Polynomials

Exercise 2A

Question 1:

{i} It is a polynomial, Degree = 5,
(i1} It is polynomial, Degree = 3.
(i) tis polynomial, Degree = 2.
(iv) It is not a palynomial.

(v) Itis not a polynomial.

{vi) It is polynomial, Degree = 108.
(i) It is not a polynomial,

{vifi} It is a polynomial, Degree = 2.
(ix} It is not a polynomial.

() It is a polynomial, Degree = 0.
(i} It is a polynomial, Degree = 0.
{xdi) It is a polynomial, Degree = 2.

Question 2:
The degree of a polynomial in one variable is the highest power of the variable.

(i) Degree of 2x -V is 1.

(i Degree of 3-x+x2 - 6x3is 3.
(i) Degree of 9is Q.

(iv) Degree of 8x* - 3éx + 5%’ is 7.
{v) Degree of x¥ - x>+ 3x12+ 85 10.
{vi) Degree of 2 - 3x21s 2.

Question 3:
(i) Coefficient of 3@ in 2x+x2 - 5x3 +xis -5
(ii) Coefficient of xin V3 — 242x + 4x% 1z ~242
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(iil) Coefficient of x2in 3~ 3

(iv} Coefficient of x2in 3x - 51s 0.

Question4:

(i) x%7 - 36

(i) y*®

(i) 5x° - 8x+7

Question 5:

(i} It is a quadratic polynomial,
(ii} It is a cubic polynomial.

(ii1) It is a quadratic polynomial.
{iv} Itis a linear polynomial.

{v) Itis a linear polynomial.

(v} Itis a cubic polynomial.
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Exercise 2B

Question 1:
plx) =5 - 4x + 2x2
(i) pl0)=5-4(0) + 2(0)2 =5

(i) p(3) = 5-4(3) + 237
=5-12+18
=23-12=11

{iiil) p=2) = 5 - 4{-2) + 2(-2]2
=5+8+8=21

Question 2:

ply) =4 +3y-y?+5y°

(i) pl0) = 4 + 3(0) - 02 + 5(0)3
=4+0-0+0=4

{ii) p(2) =4 + 3(2) - 2 + 5(2)3
=4+6-4+40
=10-4+40=44

{iii) pl-1) = 4 + 3(-1) - (-1)2 + 5(-1)°

=4-3-1-5=-5

Question 3:

flt)=4t2=3t+4
{1} F{O) = 4{0)2 - 3(0) + 6
=0-0+6=6

(i) f(4) =4(4 - 34} + 6
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=64-12+6=58

(iii) f(-5) = 4(-52 - 3(-5) + &
=100+ 15+46=121

Question 4:

(i) p(x)=0

=x-5=0

=2x=5

= 5 is the zero of the polynomial p{x).

(igx)=0

=x+4=0

=x=-4

= -4 [sthe zero of the palynomial g{x).

(i plt)=0

is the zero of the polynomial p{t).

(iV)fl)=0

=x= 3 isthezeroofthe polynomial fix).

(v gx)=0
=5-4x=0
=-4x=-5

s o

.'.]
=x= 115 the zero of the polynomial glx).
Vi) h{x}=0

=60-1=0
=6x=1

==X

]

L=

=x= () isthe zero of the polynomial h{x).

(viiy pbd =0
=ax+b=0

=ax=-b
;[-,
=X=
—b
=x= q isthe zero of the polynomial p(x)

viilgx) =0
=24x=0
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=y =0

= [ is the zerc of the polynomial g{x}.

(b pl)=0
=ax=0
=x=0

=» [is the zerc of the polynomial p{x).

Question 5:

i pl)=x-4

Then, pl4)=4-4=0

=4 is a zerp of the polynomial p{x).

(i) pbd =x-3
Then, p{-3)=-3-3=-6
=» -3 is not a zero of the polynomial p(x).

(i) ply) =2y +1

N R
=]

= 2 jsazeroofthe polynomial ply).

(iv) plx) =2 - 5x
Then,p(%) =2—5(%J =3-7=0
2

= :_. is azero of the polynomial p(x).

) plx) = -1 {x-2)

Then, p{1}=(1-1(1-2)=0-1=0

= 1is azero of the polynomial p(x).

Also, p(2)={2-1){2-2)=10=0

=» 2 is a zerp of the polynomial px).

Hence, 1 and 2 are the zeroes of the polynomial p{x).

(i) p) =2 - 3x.

Then, p{0)=02-3{0)=0

pl3)= {39 -3 =9-9=0

= (0 and 3 are the zeroes of the polynomial plx).

(vl ph) =2 +x- 6

Then,p{2)=22+2-4

=4+2-6

=6-6=0

=+ 2 i5a zero of the polynomial p(k).

Also, p(-3) = (-312-3- 6

=9-3-6=0C

= -3i5 a zero of the polynomial p{x).

Hence, 2 and -3 are the zeroes of the polynomial p(x).

https://www.edufever.com/



